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Note:- Section B is compulsory. Attempt any THREE (3) questions from Section C. Z cMEL AL 4—6/ e ffr —‘,'—(51"’(»11-‘-)
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2. Write down short answers to any SIX parts. (6x2=12) ,é{}’ OU’Z{:; Lz “téaf 2
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i. Give any two suggestions for the conservation of energy. :
ii. Whatis meant by greenhouse effect? Teilplf s’--’ﬁ'tﬁﬁcf./ i
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iii, Write down two uses of traditional wind mill.
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ix. Describe the difference between ammeter and voltmeter. ‘édw) UL"AL}J-’ sl i

3. Write down short answers to any SIX parts. (6x2=12) ﬁ{/’ Oy Lanzed! 3
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i.  What is mean! by electric shock?
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ix. Whatis a microprocessor? .

iv. What are the faclors which kinetic energy depends upon?
v. Differentiate between environment and atmosphere.

vi. Define kilowatt-hour In your own words.

vii. What is step up transformer? Write down its function also.

vili. Write down two uses of fixed capacitors.

ii. Define resistance and write its unit.

iii. How will you make fixed capacitor?
iv. Why do we not transmit 220 Voit electricity from power station to cities?
v. Why does light not require any medium for its propagation?

vi. Write down the difference between RAM and ROM.

vii. Write down the function of Telegraphy:

viii. Why radio waves are called as carrier waves?
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4. Write down short answers to any SIX parts. (6x2=12) -é{/’ =iz Lazigedf 4
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i. Define total internal reflection.

iv. Write down two uses of molasses,

v. Define pharmaceutical industry.
vi. What does LASER stand for?
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vii.  Write down two advantages of artificial satellites. '40( alnl S wegi Vi

vili. Which space probes did collect the samples of soil and rocks from Iy {7 ¢ 3 AT .
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ix. Define climatology.

x. SECTION-C /r.» y X
Note: Attempt any THREE questions. Each question carries 8 Marks LA Ly iy P gLt 2 B8:2]
5. (a) Describe any two non-conventional methods of producing electricity. ,z‘;fug,_g. SFEu /g,,;,éf‘f_dﬂéo'). () 5
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(b) Write down a detailed note on transformer. _J .'.J(}f" 480 (L)

7. What is the difference between forward biased diode ;i 5 s b ‘. )
@ and reverse biased diode? Draw circuit diagrams also. *»"kﬁff '/ L"J/’ fe 0/ Lot 3z 2 ot ,ﬂ‘ﬁfrj b L3k () .7
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(b) Write down four uses of intemet.
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8. (a) Write down four benefits of CT Scan.
(b) What are X-Rays? Describe its three properties. -éd!;c«_((:" o (51/ (1193 ?’Zadél ()

(a) Whatls steel industry? Explain the difference between Pig Iron and Steel. zéyuw)u'wwﬁuféayﬁgw;«w (W .o
S UL ek KANUPPSIPINSTECHG ()
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(b) Write down a note on tidal energy.

6. (a) Write down a note on voltmeter.

(b) What do you know about PINSTECH and KANUPP?
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